V2

+

2

@ 2x2-4x+1=0, x

2

=

[2p)

+

@ 2x2-6x-5=0, x

~ g

+

@ x*-2x-2=0,x=1

S

—
H|
—

@ x24+2x-11=0, x

S

0

<f

+

® 2x2-5x+1=0, x









Ftel

A A 22+ 12x+ 2%k +16 = 0 °] 5

4.

O 4 B 6 @ 8 3 10

@D 2



o|ZPFA Al 0.1x2 = 1 - 0.3x 9] S|= F5HA?

D x=2EE=x=

2FE=x=-5

l
i

@ x
@ x=-1EE=x=5 @ x=-1% =-3

rr
=

B x=1EX-y=-3



29

ol

(x+y)(x+y-6)—16 =02 o, x+y o] gH52]

6.

o 7 B 8 @ 9 ® 10

D 6



22 oA ax? 4+ 2bx + ¢ =0 (a#0)2 FE HFolth. ©
~ ®@of So1d Aol vt=2] ot A2? (&, b ~ac20)

ax®> +2bx+c=0(a #0)

2 C
X+ —x=—=
a a

2b
x2+—x+@:—£+®
a a

x+2)*=0
x=®+0®
2 9
@ l% @ b 3 b 2ac
a a a
b b2 —ac



o x4 2x2 — 9x —ax + 3a+ 8 = 0 ©] FF9]

8.

el
Tol
o
il
&
o

@ 7 3 8 @ 9 ® 10

@D 6



9.



10. o2 =32 - 4x=2x+m o] T

@D 4 @ 2 3 0



OIFIAEA ¥ +2x+e=0°l A2 HdE LTSI W, b= F ¢

11.

?

ol
K
o

"
ol
N

‘ol

Sl
®

@ 5

[hrREa]



OJAPYA A 2x2 + 6x+2m+ 3 =

12.

B 1

@ 0



13. A2 A2 HASa, b, col ot a+b+c =0 <L o, o]xFA 4
ax®> +bx+c =0 9 2] N4-E FFobA?

© ® © 0 6



14. 222 -8x—-k=0°]FZS 7, 3x> - (1 -k)x +3 =0 & &=

Fohe?

&
&

©)

-3+ 7
2

I+
%
|
w

O
@ 2



15.

y+ax+b =09 IHZ7} o}S T mot 2w, o]xpHpA Al
K tax+b=09 F 2| 2= o2

\

yl
)

© 2 @ -2 ® 5
@ 245 ® -2+5



